

1001 3<sup>RD</sup> Avenue West, Suite 670 Bradenton, FL 34205 941-708-4040 Fax: 941-708-4024 Federal Tax I.D. #65-0500793

CITY OF MARCO ISLAND C/O RONY JOEL 50 BALD EAGLE DRIVE MARCO ISLAND, FLORIDA 34145 Invoice 73492 - 76569 April 13, 2010

Re: ENVIRONMENTAL PROTECTION AGENCY ASBESTOS MATTER

ID: 783-005 - KSH

CONFIDENTIAL- ATTORNEY CLIENT PRIVILEGED

For Services Rendered Through April 6, 2010

Current Fees 11,505.00
Current Disbursements 407.74
Total Current Charges 11,912.74
Total Current Due

11,912.74

407.74

		too recemp		and the second second	
			Hours	Rate/Hour	Amount
KEVIN S. HENNESSY	1 - EQUITY		16.10	250.00	4,025.00
R. DAVID JACKSON	5 - ASSOCIATE		37.40	200.00	7,480.00
		Totals	53.50		11,505.00

Disbursements	
Description	Amount
TELEPHONE CONFERENCE CALL CHARGES	5.06
COST SURCHARGE	402.68

**Total Disbursements** 

		· [1] [1] [1] [1] [2] [2] [3] [4] [4] [4] [4] [4] [4] [4] [4] [4] [4		}}} !	
	Atty	Description	Hours	Rate	Amount
09/01/09	RDJ	TELEPHONE CONFERENCE WITH R. JOEL RE: VARIOUS MATTERS; DRAFT, REVISE RESPONSE TO REQUEST FOR INFORMATION FROM ENVIRONMENTAL PROTECTION AGENCY AND REVIEW AND ANALYZE DOCUMENTS RE: SAME.	1.20	200.00	240.00
09/01/09	KSH	RECEIVE AND REVIEW EMAILS OF DRAFTS; WORK SESSION WITH D. JACKSON; RECEIVE AND REVIEW EMAIL FROM R. JOEL RE: PIPE BURSTING; OFFICE	0.80	250.00	200.00

CITY O	F MAI	RCO ISLAND			il 13, 2010 ice 73492 Page 2
Date	Atty	Description	Hours	Rate	Amount
		CONFERENCE WITH D. JACKSON RE: SAME.			
09/02/09	RDJ	REVIEW AND ANALYZE VARIOUS DOCUMENTS RE: RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY'S SECOND REQUEST FOR INFORMATION; DRAFT, REVISE WRITTEN RESPONSE; EMAIL CORRESPONDENCE WITH T. PINTER RE: STATUS OF DOCUMENTS TO BE PRODUCED BY KIMLEY-HORN; RESEARCH CONCERNING ISSUES RELATED TO PIPE BURSTING.	3.10	200.00	620.00
09/03/09	RDJ	REVIEW AND ANALYZE VARIOUS DOCUMENTS RE: RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY'S SECOND REQUEST FOR INFORMATION AND DRAFT, REVISE RESPONSE TO SAME; RESEARCH CONCERNING ISSUES RELATED TO PIPE BURSTING; EMAIL CORRESPONDENCE WITH P. GENZLER (ATTORNEY FOR QUALITY) AND R. CAPLAN (ENVIRONMENTAL PROTECTION AGENCY ATTORNEY) RE: EXTENSION OF TIME TO RESPOND TO ENVIRONMENTAL PROTECTION AGENCY REQUEST FOR INFORMATION; RECEIVE AND REVIEW LETTER FROM ENVIRONMENTAL PROTECTION AGENCY GRANTING EXTENSION OF TIME; EMAIL CORRESPONDENCE WITH CITY STAFF AND CONSULTANT RE: INFORMATION NEEDED FOR RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY.	3.00	200.00	600.00
09/03/09	KSH	REVIEW AND REVISE DRAFT LETTER TO ENVIRONMENTAL PROTECTION AGENCY AND STATEMENT OF R. JOEL; RECEIVE AND REVIEW EMAILS BETWEEN P. GENZLER, D. JACKSON, AND R. CAPLAN.	1.00	250.00	250.00
09/04/09	RDJ	STRATEGY SESSION WITH K. HENNESSY; REVIEW AND ANALYZE VARIOUS DOCUMENTS RE: SOUTH COLLIER BOULEVARD PROJECT; EMAIL CORRESPONDENCE AND TELEPHONE CONFERENCE WITH CITY STAFF RE: RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY; EMAIL CORRESPONDENCE AND TELEPHONE CONFERENCE WITH P. GENZLER RE: WRITTEN RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY'S REQUEST FOR INFORMATION AND RE: SAME; CONFERENCE CALL WITH P. GENZLER AND K. HENNESSY; PREPARE FOR AND ATTEND CONFERENCE CALL WITH P. GENZLER, K. HENNESSY, AND R. CAPLAN RE: STATUS OF RESPONSE TO REQUEST FOR INFORMATION; FOLLOW UP WITH P. VAN BUSKIRK (KIMLEY-HORN) RE: DOCUMENTS NEEDED FOR RESPONSE TO ENVIRONMENTAL PROTECTION	2.40	200.00	480.00

CITYO	F MAI	RCO ISLAND		-	il 13, 2010 ice 73492 Page 3
Date	Atty	Description AGENCY.	Hours	Rate	Amount
09/04/09	KSH	PREPARE FOR AND ATTEND CONFERENCE CALL WITH D. JACKSON AND P. GENZLER; PREPARE FOR AND ATTEND CONFERENCE CALL WITH MARCO ISLAND AND QUALITY ENTERPRISES AND ENVIRONMENTAL PROTECTION AGENCY; RECEIVE AND REVIEW EMAIL FROM P. GENZLER.	1.50	250.00	375.00
09/08/09	RDJ	TELEPHONE CONFERENCES WITH P. VAN BUSKIRK RE: DOCUMENTS FOR RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY; REVIEW AND ANALYZE VARIOUS DOCUMENTS; REVIEW AND REVISE RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY; EMAIL CORRESPONDENCE AND TELEPHONE CONFERENCE WITH P. GENZLER RE: RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY.	4.10	200.00	820.00
09/10/09	RDJ	REVIEW AND ANALYZE VARIOUS DOCUMENTS RE: CONSTRUCTION OF COLLIER BOULEVARD; SEVERAL TELEPHONE CONFERENCES AND EMAIL CORRESPONDENCE WITH P. GENZLER RE: RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY; REVIEW AND REVISE WRITTEN RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY; REVIEW AND PREPARE EXHIBITS FOR RESPONSE TO	2.90	200.00	580.00
		ENVIRONMENTAL PROTECTION AGENCY'S REQUEST FOR INFORMATION; DRAFT, EDIT AND FINALIZE LETTER TO ENVIRONMENTAL PROTECTION AGENCY RE: CLIENT'S SUPPLEMENTAL RESPONSE.			
09/11/09	KSH	RECEIVE AND REVIEW LETTER TO UNITED STATES ENVIRONMENTAL PROTECTION AGENCY IN RESPONSE TO SECOND REQUEST TO PRODUCE; WORK SESSION WITH D. JACKSON RE: CHANGES AND OUTLINE.	1.00	250.00	250.00
09/14/09	RDJ	RESEARCH CONCERNING REGULATIONS RELATED TO PIPE BURSTING.	1.70	200.00	340.00
09/14/09	KSH	WORK SESSION WITH D. JACKSON RE: ENVIRONMENTAL PROTECTION AGENCY REQUEST; PREPARE FOR AND ATTEND CONFERENCE CALL WITH CLIENT AND CONSULTANTS.	2.50	250.00	625.00
09/15/09	RDJ	TELEPHONE CONFERENCE WITH P. VAN BUSKIRK RE: ADDITIONAL CONSTRUCTION PHOTOGRAPHS AND RELATED ISSUES; RESEARCH CONCERNING REGULATIONS POTENTIALLY RELATED TO PIPE BURSTING.	1.60	200.00	320.00
10/05/09	KSH	RECEIVE AND REVIEW EMAIL FROM R. JOEL RE: PIPE BURSTING; TELEPHONE CONFERENCE WITH R. CAPLAN; EMAIL R. JOEL.	1.00	250.00	250.00

CITY O	F MAI	RCO ISLAND			il 13, 2010 ice 73492 Page 4
Date	Atty	Description	Hours	Rate	Amount
10/07/09	KSH	TELEPHONE CONFERENCE WITH R. CAPLAN AND P. MCILLVANE RE: PIPE BURSTING; RECEIVE AND REVIEW ENVIRONMENTAL PROTECTION AGENCY'S PAPERS; EMAIL R. JOEL RE: SAME.	1.00	250.00	250.00
10/19/09	KSH	RECEIVE AND REVIEW EMAIL FROM R. CAPLAN RE: R. JOEL'S AFFIDAVIT; EMAIL D. JACKSON.	0.30	250.00	75.00
10/19/09	RDJ	RECEIVE AND REVIEW CORRESPONDENCE FROM R. CAPLAN (ENVIRONMENTAL PROTECTION AGENCY ATTORNEY) RE: CLARIFICATION OF STATEMENT AND FOLLOW UP.□□	0.30	200.00	60.00
10/20/09	KSH	PREPARE FOR AND ATTEND CONFERENCE CALL WITH R. JOEL AND M. DANIEL; WORK SESSION WITH D. JACKSON; RECEIVE AND REVIEW EMAIL FROM P. GENZLER; RECEIVE AND REVIEW EMAILS FROM R. JOEL.	1.00	250.00	250.00
10/20/09	RDJ	EMAIL CORRESPONDENCE WITH P. GENZLER, ATTORNEY FOR QUALITY ENTERPRISES, AND L. GAUDIO (QUALITY ENTERPRISES) RE: REQUEST FOR CLARIFICATION FROM ENVIRONMENTAL PROTECTION AGENCY; CONFERENCE CALL WITH K. HENNESSY, R. JOEL, AND M. DANIEL; DRAFT RESPONSE TO ENVIRONMENTAL PROTECTION	2.60	200.00	520.00
		AGENCY'S REQUEST FOR CLARIFICATION OF STATEMENT.			
10/21/09	RDJ	CONFER WITH K. HENNESSY; REVISE RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY'S REQUEST FOR CLARIFICATION OF STATEMENT; EMAIL CORRESPONDENCE WITH AND TELEPHONE CONFERENCE WITH P. GENZLER RE: VARIOUS ISSUES.	1.80	200.00	360.00
10/21/09	KSH	RECEIVE AND REVIEW DRAFT RESPONSE TO R. CAPLAN; WORK SESSION WITH D. JACKSON RE: COMMENTS FROM P. GENZLER AND QUALITY.	1.00	250.00	250.00
10/23/09	RDJ	REVISE RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY'S REQUEST FOR CLARIFICATION; FOLLOW UP WITH P. GENZLER, ATTORNEY FOR QUALITY ENTERPRISES, RE: VARIOUS ISSUES.	1.20	200.00	240.00
10/27/09	RDJ	EMAIL CORRESPONDENCE WITH R. CAPLAN (ENVIRONMENTAL PROTECTION AGENCY ATTORNEY) AND QUALITY ENTERPRISES REPRESENTATIVES RE: RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY'S REQUEST FOR CLARIFICATION; REVIEW AND REVISE RESPONSE AND FOLLOW UP WITH QUALITY'S REPRESENTATIVES RE: REVISIONS.	1.10	200.00	220.00
10/28/09	KSH	FINALIZE RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY; OFFICE CONFERENCE WITH D.	0.50	250.00	125.00

CITY OF	MAI	RCO ISLAND		•	il 13, 2010 ice 73492 Page 5
Date	Atty	Description	Hours	Rate	Amount
		JACKSON; RECEIVE AND REVIEW EMAIL TO R. CAPLAN; RECEIVE AND REVIEW RESPONSE FROM R. CAPLAN.			
10/28/09	RDJ	EMAIL CORRESPONDENCE WITH QUALITY ENTERPRISES REPRESENTATIVES RE: RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY'S REQUEST FOR CLARIFICATION; TELEPHONE CONFERENCES AND EMAIL CORRESPONDENCE WITH R. JOEL RE: SAME; CONFER WITH K. HENNESSY; REVISE, FINALIZE RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY'S REQUEST FOR CLARIFICATION AND TRANSMIT SAME TO R. CAPLAN (ENVIRONMENTAL PROTECTION AGENCY ATTORNEY).	1.50	200.00	300.00
03/29/10	KSH	RECEIVE AND REVIEW LETTER FROM ENVIRONMENTAL PROTECTION AGENCY; RECEIVE AND REVIEW EMAILS FROM R. JOEL; PREPARE FOR AND ATTEND CONFERENCE CALL WITH R. JOEL; L. DOUGLASS AND D. THOMPSON; RECEIVE AND REVIEW DRAFT PAPER TO COUNCIL; RESPOND TO SAME.	2.20	250.00	550.00
03/29/10 1	RDJ	RECEIVE AND REVIEW LETTER FROM ENVIRONMENTAL PROTECTION AGENCY RE: OPPORTUNITY TO SHOW CAUSE; TELEPHONE CONFERENCES AND EMAIL CORRESPONDENCE WITH R. JOEL; STRATEGY SESSION WITH K. HENNESSY; VOICE MAIL TO P. GENZLER, ATTORNEY FOR QUALITY ENTERPRISES, RE: RESPONSE TO ENVIRONMENTAL PROTECTION AGENCY LETTER; RESEARCH CONCERNING VARIOUS ISSUES; TELEPHONE CONFERENCE WITH R. CAPLAN, ATTORNEY FOR ENVIRONMENTAL PROTECTION AGENCY; REVIEW AND ANALYZE CORRESPONDENCE FROM CLIENT RE: RELATED ISSUES.	2.40	200.00	480.00
03/30/10	KSH	RECEIVE AND REVIEW EMAILS WITH PRESS RELEASE; RESPOND TO SAME.	0.30	250.00	75.00
03/30/10 1	RDJ	TELEPHONE CONFERENCE WITH AND EMAIL CORRESPONDENCE WITH P. GENZLER; RECEIVE AND REVIEW LETTER FROM ENVIRONMENTAL PROTECTION AGENCY TO QUALITY RE: OPPORTUNITY TO SHOW CAUSE; CONFERENCE CALL WITH R. JOEL AND L. DOUGLASS; REVIEW AND REVISE SUMMARY OF ISSUES RELATED TO ENVIRONMENTAL PROTECTION AGENCY MATTER AND FOLLOW UP; REVIEW FILE RE: ENVIRONMENTAL PROTECTION AGENCY MATTER AND LEGAL RESEARCH RE: VARIOUS ISSUES.	3.50	200.00	700.00

CITY OF	MA	RCO ISLAND			ril 13, 2010 pice 73492 Page 6
Date A	tty	Description	Hours	Rate	Amount
03/31/10 R	RDJ	REVIEW NOTE FROM CITY MANAGER TO COUNCIL RE: ENVIRONMENTAL PROTECTION AGENCY MATTER; PREPARE FOR AND ATTEND CONFERENCE CALL WITH K. HENNESSY, P. GENZLER; RESEARCH CONCERNING VARIOUS ISSUES; REVIEW AND ANALYZE MEMORANDUM RE: APPLICABILITY OF NESHAP; DRAFT LETTER TO P. MCILVAINE (ENVIRONMENTAL PROTECTION AGENCY).	3.00	200.00	600.00
03/31/10 K	SH	TELEPHONE CONFERENCE WITH P. GENZLER; OFFICE CONFERENCE WITH D. JACKSON; RECEIVE AND REVIEW EMAIL FROM P. GENZLER TO R. CAPLAN; TELEPHONE CONFERENCE WITH R. JOEL; EMAILS TO D. JACKSON.	2.00	250.00	500.00
		Total Fees	53.50		11,505.00
		Dis burs e me nts			
Date	D	escription			Amount
09/30/09		ELEPHONE CONFERENCE CALL CHARGES; FOR CONFEREN ALL ON 9/4/09	NCE		5.06
	C	OST SURCHARGE			402.68
-		Total Disbursemen	nts	· ,	407.74